0-083 OoooDbesODOOOOD(@O25090)

1km

2
A B 2 a
7.530km b 5.550km
1km ]
2010 1 2012
9 2
30 1
3
0.82 0.88
1.02
2
4
5
4 0 10 20 30 40 50 60 70 80 90 0 10 20 30 40 50 60 70 80 90
[mmvh] [mnvh]
@) a (b) b
3
532-0011 5-4-20 .06-6305-6958

-1665-



0-083 OoooDbesODOOOOD(@O25090)

1.0é
0.8 PY g o 99 o
s | 10
04 |
Q a
02 (@] b
0.0
5mm/h 0 1 2 3 4 5 6 [er1] 8
5 4
15
1,0().....2 .9 _____ QQ _____ Og ) 9
05
(@] a
6 6) b
1
0.0
6 0 1 2 3 4 5 6 7 8
[km]
| |
5
4
—_ | ]
-~ 3l m
2 -
05 25 I I
. ml. =
2 3 5 7 10 15
[ ]
(@) a
4
—_ | ]
- 3 b | ]
2 -
l | I
,Lml . l o u &
2 3 5 7 10 15
[ ]
(b) b
6
1 ) ) 67 2012

-166 -



